Andhra Pradesh State Council of Higher

Education

Notations :

1.0ptions shown in green color and with +" icon are correct.

2.0ptions shown in red color and with #* icon are incorrect.

Question Paper Name:
Duration:
Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Calculator:

Magnifying Glass Required?:
Ruler Required? :

Eraser Required? :

Scratch Pad Required?:

Rough Sketch/Notepad Required? :
Protractor Required?:

Show Watermark on Console? :
Highlighter :

Auto Save on Console?

Change Font Color :

Change Background Color :
Change Theme::

Help Button:

Show Reports :

ENGINEERING 20th May 2024 Shift 1
180
160
No
Yes
None
No
No
No
No
No
No
Yes
No
Yes
No
No
No
No

No



Show Progress Bar : Is this No No
Group for Examiner? : Cant View
Examiner permission : Show No

Progress Bar?:

Mathematics
Section Id : 450938141
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 80 80

Section Marks :

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
. -.
Is Section Default? : null

Question Number : 1 Question Id : 4509386561 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Letf(x) =3+2xand g (x) = (fo fofo....ntimes) (x).

¥n € Nifall the lines y=g (x) pass through a fixed point (c. ), then o+p =
f(x)=3+2x DA g,(x)=(fo fofo...aD) (x) @DHOTT0. ®) n€EN
O y=g (1) T O) &8 AV DO (o, p) T 50 B, a4 =

Options :

—3



®
—3
3. %
—6
4.+

Question Number : 2 Question Id : 4509386562 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

X

Leta > 1and 0 <b<l. If f: R = [0,1] is defined by f(x) = {{llf‘aoi{ o , then f(x) is
> 10000 0 < b<l @h&od. f:R-[0,1] o, f(x)= [bzﬂf ™ B,
a0 f(x)
Options :
A bijection

2,8 & 5089 105000

One-one but not onto

@R 53 520 DO(HRN 57D



Onto but not one-one

QO 5°Q e 830 5D

3. #®
Neither one-one nor onto
DO 5P @9 S8 S°CD
4, &

Question Number : 3 Question Id : 4509386563 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
e 50 B
LT TR T T
1 1 1

Sttt 50 ST 85 =

Options :
50
203
1. %
50
609
2.
150
203
3. %

4. %



Question Number : 4 Question Id : 4509386564 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1 k. 2
IfA=|2 1 3|.then A2 — 544+ 61 =
3 2 4
1 0 2
A=12 1 3| @008, 42 —-54+6] =

3 2 4
Options :

8 4 0

3 B8 4

0 32
1. #

3 £ O

3 6 4]

4 0 14
2. ®

8 6 0

3 8 4

Z B 14
3. %

8 4 0

3 8 4]

4 0 14




Question Number : 5 Question Id : 4509386565 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sum of the positive roots of the equation

x2+2x x+2 1
2x+1 x—-1 1|=01s
g i bl =1, 1
w4iv x%2 1 - )
2x+1 x—1 1|=0 JdNE&0 BwEy SSrere Indo
p T =i
Options :
1413
=
1.4
1
2. ®
Vi3 —1
2
3. %
3
4. %

Question Number : 6 Question Id : 4509386566 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If the solution of the system of simultaneous linear equations x + y—z=16,3x+ 2y -z =15
and2x—y-2z4+3=01sx=a,y=f,z=y.thena+f =
x+y-2=63+2y-2=52-y-2243=0 O3 HTO¥ T HaDEETe)

590 Oh0E) TS x = @,y = f,z = y WONB, a + § =

Options:

s
1. %

2
2. ¢

1
3. %

—
4. ®

Question Number : 7 Question Id : 4509386567 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
, L B
If the pomnt p represents the complex number z = x 4 iy in the argand plane and if stk
purely imagmary number then the locus of p is

w, uf W, W, 5 e W, F LA * 4 Z+i
ST°08 H0S00E p o) 088 H025 2 = 1 +iy & DD — A

§6)165 0D N, p BRNEY DODNGO

Options :

1. %



x2+y2+x—vy=0and(x,v) = (1,0)
24y 4+ x—y=00800 (x,y) = (1,0)

x2+y2 —x+y=0and (x,y) # (1,0)
x2+y2—x+y =008 (x,y) = (1,0)

2. ¢
x2+y2—x+y=0and (x,y) = (1,0)
x2+y2—x+y=0080 (x,y) = (1,0)
3. %
b el T R i o e
4, %

Question Number : 8 Question Id : 4509386568 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

S={zeC/|z+ 1 —i| = 1} represents

S={zeC/|z+ 1 —i] = 1} DO DTE

Options:

the circle with centre at (-1. 1) and radius 1 unit

S0(A0 (—1. 1) DB 5o 1 ATIE ™ (e 5980
1. ¢



the circle with centre at (1. -1) and radius 1 unit

B0(S50 (1. —1) HOASN G0 1 CRTIED 1T (1) 559)€8e0

the closed circular disc with centre at (1. -1) and radius 1 unit

B0(A0 (1. —1) HBOSW T5rE0 1 ARTAED T K6 HyErse DS

the closed circular disc with centre at (-1.1) and radius 1 unit

S0(0 (=1. 1) SHOC arsard0 1 AR 1 e 2,8 9TY DOE0

Question Number : 9 Question Id : 4509386569 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ifcosa+cosff +cosy =sina+ sinff + siny = 0 then

(cos®a + cos3B + cos®y)? + (sinda + sin®f + sin®y)? =

cosa+cosff +cosy =sina +sinff +siny = 0 OB

(cos®a + cos®B + cos®y)? + (sinda + sin®f + sin®y)? =

Options:
1
1. %
3
4
2. %



| O

Question Number : 10 Question Id : 4509386570 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a and P are two double roots of x* + 3 (a + 3)x — 9a = 0 for different values of a (@ > f).
then the minimum value of x* + ax —f =01

a O308) D) DeNIOR 12 +3(a+3)x-9a=0 S5O HDE Sreren o p
(@> ) OOV x% + ax — f = 0 GF) $al DOV

Options:
69
.4
1. #
69
4
2. ¢
35
4
3. %
35



Question Number : 11 Question Id : 4509386571 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If2x% 4+ 3x -2 =0and 3x* + ax — 2 = 0 have one common root, then the sum of all possible

values of o 1s

2% +3r-2=0.08050 3% +ax—2=0 0 28 &8 aurera) SN &) a
50 P¢I800DE DENO Jeho

Options :

— 3.5
1. %

f ]
2. v

S
3. %

i
4, ®

Question Number : 12 Question Id : 4509386572 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the sum of two roots of x* + px® + qx — 5 = 0 is equal to its third root, then p(p® — 4q) =
B prddgr-5=0 008 B0 HFere INBSN TR ST SrerRS

DTI0 oS p(p? - 4q) =

Options :



—20

1. %

20
2. ®

40
3.¢

—40
4. %

Question Number : 13 Question Id : 4509386573 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

IfP(x) = x* + ax* + bx® + ex? + dx + e is a polynomial such that P(0)=1, P(1)=2, P(2)=3,
P(3)=10and P(4)=17, then P(5)=

P(x) =+ ax* + b + ox® + dx + e ®F 23038 P(0)=1, P(1)=2, P(2)=5, P(3)=10
00 =17 TN &OD), P(5)=

Options :

126



Question Number : 14 Question Id : 4509386574 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a polygon of n sides has 275 diagonals. then n 1s

n 2H2PeN &) 2302HBS Q ET° HOoYPS 275 OV n DEN

Options :

25
1.+

35
2. ®

20
3. %

kS
4. %

Question Number : 15 Question Id : 4509386575 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of positive divisors of 1080 1s

1080 Q305 Q0 2725°) DODS

Options :



L]
=

1. %

32
2. ¥

23
3. ®

31
4. #

Question Number : 16 Question Id : 4509386576 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

"

> L r
lf G”:Z then Z?

M~
r=0 C'r =0 -y
" l i ,
arr = HC'- r?—_@(:l}j@ Z izC-. =
r=0 ‘r =0 5
Options :
{” = l)aﬁ
1. #
na,
2. ®



a

n+l

Question Number : 17 Question Id : 4509386577 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
s o : : i &5
ThecoeﬂnnenrofxE1utheexpansun10f(2x3-—5;5) 1s

(2x3 —L)E 29 &£ DNGEIS” x5 TBwE), Heago

3x2

Options :
8
1. %
9
2. %
80
9
3.¢
29
3



Question Number : 18 Question Id : 4509386578 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1 1.35
1—I—3+ +3&9+ fo
1 1.3.5 Py
1+-= + +—+ s 00 JOB=
3 3.6.9
Options
V5
1. %
ﬁg
2. #
V15
3. #®
V3
4.

Question Number : 19 Question Id : 4509386579 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A Bx+C 1
If = — then C =
.r—a-+_x2+b2 (x—a)(xZ2+b?%)
A Bx+C 1
= 90N C =
v Xebht (x—a)(x2+b?)
Options :



a? + b2
1
a2+ b2
2. ®
—a
a? + b2
3.
a
a? + b2
4, %

Question Number : 20 Question Id : 4509386580 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
' 3 5 o o TR
If cos* T+ cos* 2+ cos* 2T + cost " = k then sin™! ( E) 1 cos™1 (E) ik
8 8 8 8 \2 3

T an 5T n g : 7, k i {K
cos"‘g + c‘osd‘g + c‘os‘i? + 0054? = k €900, @5) )¢ sin~? (\/;) +cos™? (E) =

Options :
2

1.+ 3
3
4



| =

(SR

4, %

Question Number : 21 Question Id : 4509386581 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

cos 10° 4+ cos 80° .
sin 80° — sin 10°

Options :
tan 35

1. #®

tan 55
2.

tan 20°
3. ®

tan 70
4. %

Question Number : 22 Question Id : 4509386582 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

sinl +sin2'+. ..+ sin89
2(cosl” +cos2°+. . .+cos44)+1

Options:
V2
1. %
1
V2
2. ¢
2
3. %
1
2
4. ®

Question Number : 23 Question Id : 4509386583 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of ordered pairs (x, ) satisfying the equations
sinx +siny = sin(x+y)and x|+ |y| = 11s
NeDEBETeN sinx +siny = sin(x +y) HOO x| + [y] = 1 O INIGD (x; 1) (Sodd

O0T™)® O

Options:

-2



L]

3. %

Question Number : 24 Question Id : 4509386584 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1 1 1
ATan = —Tan '— 4 Tan 1— =

5 70 99
Options:
12
1. %
T
2. % 6
T
4
3.¢
T
:



Question Number : 25 Question Id : 4509386585 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If 5sinhx — cosh x = 5. then one of the values of tanh x 1s

5 sinh x — cosh x = 5 @O0, tanh x G30E) DeNJOS 2,563

Options :
2
i
1. %
2. ®
=3
3.¢
—1
5
4, %

Question Number : 26 Question Id : 4509386586 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC,ifr; = 4,1, = 8,13 = 24 thena =
AABC S’ 1y = 4,1, = 8,13 = 24 ®ONS a =

Options :
0

1. %

16

V5
2.9

16V5
3. %

V5
4, %

Question Number : 27 Question Id : 4509386587 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a circle 1s inscribed in an equilateral triangle of side a, then the area of any square (i sq. units)
mseribed m this circle 1s
D250 a T AOAS 28 AN (BPHENS 28 HTR) wosddd), &

59850 ©060D0NAS ITT VRGN0 TNE) FFOI0 (1. CFALS)

Options :



(1
2'\;"5
3. ®
aZ
6
4,

Question Number : 28 Question Id : 4509386588 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the items of List-I with those of List-IT (Here A denotes the area of AABC.)

PNTLS Q) QOTON, FHT-LS A FES 2STON0A

(28 AABC ITEMR) A ATDD0A)

List-] List-II
(& e)e-]) (1)
Fd b . iy
(a+b+c) m
B) Z A (LT, |
t— b —
cot (a°+b°+c) m
(C) | IftanA:tanB:tanC = 1:2:3,thensinA:sinB:sinC = | (II) |8:6:5
tanA:tanB:tan C = 1:2:3 ©0N®, sin A: sin B: sin C =
(D) Ifcot%:cot%:cotg: 3:7:9,then a: b:c = (V) |12:5:13
A B C T,
cot—: cot=: cot = 3:7:9 9OV, o)) a:b:c =
(V) Mﬁg: 2\,-@: 3
(VI) |44

Then the correct match 1s
% — &
296 )C0 B &

Options :

A-VI; B-I; C-II. D-III

A-II; B-I; C-V; D-II
2.

A-IT: B-VI. C-V: D-I




N Bl Gk DWW

Question Number : 29 Question Id : 4509386589 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let 0 @ A G+2} + E) B(—ZI’HE).C (2? o ;) D(ﬂrﬂare position vectors of the points O. A, B.

C and D. If a line passing through A and B intersects the plane passing through O. C and D at the

point R. then position vector of R is

0, A, B, C H80 D © &S ddden 0(0), A(+2) + k). B(-2i+3k). (21 +7). D(4k)
©:5%0T0. A HOA B © 5o FOd 3, 0, € NG D © T PAd
Berd) R 56 DOA, R B0E} 360

Options :

—8i — 4j+7k
1.4

2i4+j+k

i bf 8k

"
=

3i +2] —



Question Number : 30 Question Id : 4509386590 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

a. b. ¢ are non-coplanar vectors. If ad = a+ b+ ¢, fa = b+ ¢+ d. then ‘ +hte

a.b. 70 ©dAAH DO, ad = a+ b+t fa = b+ o+ d 90N\ [t b+ T+ E| =

:-:zu |

Options :

-3

la— b ¢

Question Number : 31 Question Id : 4509386591 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

u, v, w are three unit vectors. Let p=u4+v+w.q=1u
and v=Kg. then K=
TRIATIO IO WA ARVAL [V p=ut+v+wg=ux@xw) ) ) 0TFO. DU -2

p.v =" |pl=2 HB0% v=Kq. 0@ K=

Options :

&collegeduniaa



Question Number : 32 Question Id : 4509386592 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The distance of the point O(E] from the plane 7. [E+j+})=5 measured parallel to 2i+3 — 6k is

23— 6F O ddrossdor FONSYD 0(0) Hod F(HH)= o

OO (10 (G0

Options :

(%]
h



Question Number : 33 Question Id : 4509386593 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If @, b are the two non collinear vectors. then |i_)|E + [a] b represents

a,b &0 HBDasren 50 Boch SOFNS, |b[a + [a] b B drdodaBo

Options:

a vector parallel to an angle bisector of @, b

a, b © 2,8 56 SO IDOCS B I022& 10 2.8 dOF

1.4

a vector along the difference of the vectors a, b

@, b dOF 0 Toad de 2.8 b4

a vector along a+b

a+b Joaé M 2.8 b3

3. ®

a vector outside the triangle having @, bas adjacent sides

@, b 00 83 20230060 (1) 2,8 (3202300 200D (i) 2,8 D&
4. %

Question Number : 34 Question Id : 4509386594 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



v and y are the arithmetic means of the runs of two batsmen A and B in 10 mnings respectively
and oa. op are the standard deviations of their runs in them. If batsman A 1s more consistent than

B. then he s also a higher run scorer only when

A DB B &F 300 a7y DS © B 10 aQY0F) SR HiHe
©OSDITO) SOV T HOK J, FES T8 HEHO (EDNIOS50E
O™ 53 HOAD op. B 0T A DF0e) AOEE BON ST OB, D
D30}0) DN AP0 PR ST ©ON GOFTO0T)

Options :
g X X
0<—<—; —>1
Op ¥
1.
E L)
e 1
vV  Op
2. %
X o
— < 1
y  Op
3. %
. X 0
—os Je Y e el
L4 y Op
4. %

Question Number : 35 Question Id : 4509386595 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



S 1s the sample space and A. B are two events of a random experiment. Match the items of List A

with the items of List B.

ListA ListB
I | A Bare mutually exclusive events |a | P(An B)=P(B) - P(4)
1T | A. B are independent events b|P(4)=P(B)
I | ANB=A | /2
P (— =4~ p(4)

B

IV|AUB=S d| P(AUB)=P(A)+P(B)
e | P(A)P(B)=2

28 ATy 8 (0SS TG @8 SO A, B &) Bodd e,
A8 A 5D 907D, HEEB SR 8S a$Tohod.

S8 A NIALS:
I | A B30 06 abynden a | P(ANB)=P(B) - P(4)
I | A, BN RSeh0eh antacden b | P(4) < P(B)
Il | AnB=A c| /4
Pl3|=1-P(4)
IV|AUB=S d | P(AUB)=P(A)+P(B)
e | P(A)P(B)=2

Options :

(I-e) (II-d) (I-c¢) (IV-b)

1. #

(I-a) (II-¢) (IlI-e) (IV-b)
2. %

(I-d) (II-¢) (I-b) (IV-a)
3. ¢

(I-b) (II-d) (III-a) (IV-c¢)



Question Number : 36 Question Id : 4509386596 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

P(A|JANB)+P(B|JANB) =

Options :

P(AUB)

P(ANB)

-2

Question Number : 37 Question Id : 4509386597 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two digits are selected at random from the digits 1 through 9. If their sum is even. then the

probability that both are odd 1s
1 0BG 9 588 e ©05e) o OireyD 0™ Boch 805en AotNEDAD.

63 InB0 M8 oD ONB, & ©0TeN TOKT 230 NOVLEN BTS D02PSed

Options :



ol wa

1
2% 2

5

8
3.¢

3

4
4. %

Question Number : 38 Question Id : 4509386598 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A. B. C are mutually exclusive and exhaustive events of a random experiment and E is an event
that occurs i conjunction with one of the events A, B. C. The conditional Probabilities of E given
the happening of A, B. C are respectively 0.6. 0.3 and 0.1. If P(A) = 0.30 and P(B) = 0.50. then
P(CE)=

A, B, C 0 28 OPC0)8 (DOIPH00308) 088 Daded o aedaden SHBaH &
OIS 2.8 TR HoBPH0S 6T S E. S A, B, C 0 28889 E
308 A0DEd 02T DN 0.6, 0.3,0.1. P(A) =030, P(B) = 0.50 ©ONES

P(CE) =

Options:



ualr—t
1| L

2. %
18
35
3. %
17
35
4. %

Question Number : 39 Question Id : 4509386599 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For the probability distribution of a discrete random variable X as given below. the mean of X 1s

X=2 |=2] =1 | @ | 1|23

] L oo d (oo @ Lo B e B o 2
RS T O A Pl P
T T e T Tl

18065 a5 28 @508y AFciYRNE DOTE X T}, 0PI Verado
D5 X A308) @0% e0EI500

X=x |-2]| -1 ] 0o |1 ] 2]3

PX=x)| 1| 2| 3| 3| 4| 2

S = K — | Kb — | K — | Kb — | K+ —
0| 10 10| 10 10| 10

Options :



U]

2.
6
5
3. %
8
4%

Question Number : 40 Question Id : 4509386600 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a random experiment. two dice are thrown and the sum of the numbers appeared on them is
recorded. This experiment is repeated 9 times. If the probability that a sum of 6 appears at least

once is Py and a sum of § appears at least once is Py, then Py:Py=

2,8 OSFC3y)8 INTITH0S Boch FDEOD I B T NoPsO T
Narey D, & (DTFTR) 9 TD TS0 Tard. T3 ST A0VO
080 N0 28 7PB 6 D) A0S P SHOM EAN0 2.8 B 8 T

N02T5eh Py ©9ONE, P1:Py=

Options :



1:1

Question Number : 41 Question Id : 4509386601 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the line segment joining the points (1.0) and (0.1) subtends an angle of 45° at a variable point P,

then the equation of the locus of P is

2,8 VB0 P 3G (1,0) O (0,1) DOched®d 82 Bardoco 45 © §80

D 0T, P 330E) Do addBe0.

Options :

(2+y?—1D*+y*—2x—2y+1)=0,x=0,1

(2 +y* - D2 +y* +2x+ 2y + 1) =0,x = 0,1

2. %
x2+y2+2x+2y+1=0
3. %
x2+y2=4
4, %

Question Number : 42 Question Id : 4509386602 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the origmn 15 shifted to a pomt P by the translation of axes to remove the y-term from the

equation x% — y% + 2y — 1 = 0, then the transformed equation of it is
-y +2y-1=0 Qo0 od v IR SONDEAS darodd @

D00 @577 a0 DODYD P Do) G 8IS, ) Grarosd

Dan8eao
Options :

G G |
1. %

x2 —y2 =40
2.

kT L2 =1
3. %

x2+y2=0
4. %

Question Number : 43 Question Id : 4509386603 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A line L intersects the lines 3x —2y —1=10and x 4+ 2y + 1 = 0 at the points A and B. If the

pomt (1. 2) bisects the line segment AB and E +% = 11s the equation of the line L. then
at+2b+1=

L % 28 0390 3x —2y — 1= 008000 x + 2y + 1 = 0 AOSTDOD A HOCN B
200Y® S8 DOAV0A. AB FIrOTR) (12) Do) N 0B TYOA

moanaa;Lammﬁbéémog+§:1@m@a+zb+1:

Options :

o

3. %

-J

4.

Question Number : 44 Question Id : 4509386604 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A line L passing through the point (2, 0) makes an angle 60° with the line 2x —y+3 =0.IfL

makes an acute angle with the positive X-axis in the anticlockwise direction. then the Y-intercept

of the lime L1
(2,0) Doy (o 0D LR 2.8 B 2x — y +3 = 0 32 60° 580 TW0d. (5

X-05 08 SSOIS L2 0080 TP 0%, 32 L 3305}, Y-8906¢ 2050

Options :



10v3 — 16

11
1. #
32
V7
2. ®
16 — 10V3
11
3.
2
4, %

Question Number : 45 Question Id : 4509386605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the slope of one line of the pair of lines 2x% + hxy + 6y = 0 is thrice the slope of the other
line, thenh =
262 + hy + 6y = 0 DgrainifyodS 2,88 GBug) aren, Bods B e S

5@@, h=

Options :



4.

Question Number : 46 Question Id : 4509386606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the equation of the pair of straight lines passing through the pomt (1. 1) and perpendicular to
the pair of lines 3x% + 11xy — 4y% = 0is ax? + 2hxy + by* + 2gx + 2fy + 12 = 0. then
2@-h+b-g+f-12) =
(1, 1) Do) HOm e 3x% + 11xy — 4y? = 0 BarONMAE ©ODOT &OB MY
Ogroino Dan¥BEA0 ax? + 2hxy + by? + 2gx + 2fy + 12 = 000N,
2a-h+b-g+f-12)=

Options:

—+19
3.¢



Question Number : 47 Question Id : 4509386607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Equation of the circle having its centre on the line 2x + v 4+ 3 = 0 and having the lines
3x+4y-18=10,3x 44y + 2 = 0 as tangents 1
2x+y+3 =009 So[) $O0 3x + 4y — 18 = 0080 3x + 4y +2=0

Tepered )605en T o) S8 G

Options :

xP+y*+6x+8y+4=0

1. %

x24+y2—6x—8y+18=0
2. ®

x2+y2—8x4+10y+37=0
3. %

x2+y24+8x—10y+37=0
4, &

Question Number : 48 Question Id : 4509386608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If power of a point (4,2) with respect to the circle x2 + y% — 2ax + 6y + a> — 16 = 015 9, then
the sum of the lengths of all possible intercepts made by such circles on the coordinate axes is

W24yt -2ax 46y +ad-16=0 SO Sals (4,2) G¥) Dochis 9 mand,
©9er0t] YT ATITENOD DAY WOSEPOTO PN B 08

B

Options :

16 + 46
1.

16 + 446 — 6v2

2. ®

16 + 446 + 642
3. ®

16 + 6v2
4, %

Question Number : 49 Question Id : 4509386609 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let  be an integer multiple of 8. If S is the set of all possible values of « such that the line
6x + 8y + @ = 0 intersects the circle x2 + y? — 4x — 6y + 9 = 0 at two distinct points, then

the number of elements in S 1s
@ O0 8 B8 SJT08 He3e0 BDFOTTO. 6x + 8y + @ = 0 ©F T
24y -dr—6y4+9=0 O3 HTA) 00 DoMIo & DoBORIEY

050008 @ G30E) O NSO Jaded § AN, § SOIE) SIFOTE) HODS

Options :

4
1.+

6
2. ®

2
3. %

1
4, ®

Question Number : 50 Question Id : 4509386610 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the circles x* +y® —8x— 8y +28 =0 and x* + y® — 8x— 6y + 25 — & = 0 have only

one common tangent. then @ =

x2+y2—8x—8y 428 =0 OO 2+ y2 - 8x -6y +25—a? =0 SYTeN 25 2.8

e )50 $OR &)Y, a =

Options:



1. #®

a =2
2. ®

a—1
3.+

a=>5
4. &

Question Number : 51 Question Id : 4509386611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the equation of the circle passing through the pomnts of intersection of the circles

¥ =20 +yt—4y—4=0x"+2x+y* + 4y — 4 = 0 and the point (3. 3) is given by

iyt tax+Py+y=0thend(a+p+y)=

(3. 3) 0D (HOT e x2 — 2x + y2 — 4y — 4 = 0 OO

%420+ 77 44y — 4= 0 5980 D0 DocD)e HOm FTH 9@ eDEBe0

X2 -I—};rz + ax + B};-} y = 0, @QD@ 3({1; _|_ﬁ g },) —

Options :
32
1. #®
—32
2. %



Question Number : 52 Question Id : 4509386612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A common tangent to the circle x% + y% = 9 and parabola y? = 8x is

12 4 32 =9 59ede0 sHBOW y? = 8x DTHOOTTE QY & )09
Options :

3x —V3y+2=0

1. %

x—V3y+6=0
2.

2x —V3y+3=0
3. %

r—3y+6=40
4. %

Question Number : 53 Question Id : 4509386613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let F and F* be the foci of the ellipse 2—2 1 2—2 =1(b < 2) and B 1s one end of the minor axis. If
the area of the triangle FBF* is v/3 sq. units, then the eccentricity of the ellipse is

F 805 F! en ’1—2 ¥ i—z = 1(b<2) BYSyS0 TE TAheD s, B (2T 8 s
08 2,8 VI8 MO0, FBF! (832920 G08) 3T'050 13 1. AT eond
BSyB0 CB0Y). t8)0()e

Options :
V3 1
_0'[1 (-
2 2
1.4
i |
V3
2. %
1.;’? 1
o1 >
3. %
3 1
Rl
4, %

Question Number : 54 Question Id : 4509386614 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



, . : iyt .
If a circle of radius 4 cm passes through the foci of the hyperbola = y:: 1 and concentric

with the hyperbola. then the eccentricity of the conjugate hyperbola of that hyperbola 1s

2 2 L
420 © TG0 fio 28 Sydo H- L =1 eddrsodho Gl THe

Do ey, & aNTH0H0S NE0|A0DNSYH0D, & OBNTHO0 T,
D00 SBNTHOHO TE). ey 0[¢deh

Options :

2
1.+

2V3
2. %

Question Number : 55 Question Id : 4509386615 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



2
If a tangent to the hyperbola x* —% = 11s also a tangent to the parabola y? = 8x. then equation

of such tangent with the positive slope 1s
A g LA W, W
% —y? = 1 ©BHTHO0H0 TE) AIG0D ¥2 = 81 HTHOONAS Ere )50

@O0, S8 e DR @erot3 06159 Hatse0

Options :
1 ,
y—x— 5~
1. %
v—2x—1=10
2.

2y —dx—] =1

y=—x—1=0

Question Number : 56 Question Id : 4509386616 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

IfA(1.0.2).B(2.1.0). C (2. -5. 3). D (0. 3. 2) are four points and the point of intersection of
the lines ABand CD 1s P (a.b. ¢). thenatb+¢=

A(1,0,2),B(2.1,0).C (2. -5.3).D (0, 3,2) &0 Frenth Dochayen HBOM AB, CD ©

POCES DO P (2, b. ¢) WONS, a+b+c =

Options :



1.4
-5

2. %
3

3. %
-3

4, %

Question Number : 57 Question Id : 4509386617 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The direction cosines of two lines are connected by the relations [ +m —n = 0 and

Im —2mn +nl = 0.If @ 15 the acute angle between those lines then cos § =

Joch O A5 50 €0 L4+ m—n= 0000 Im—2mn+nl=0 B9 DODOTO)

Teh HOTTAONDEON. 8 TDO SNz A0 OO0 § WOV, cos§ =

Options :
6
1. %
1
V7
2.9



on | L

w| o

Question Number : 58 Question Id : 4509386618 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The distance from a pomt (1. 1. 1) to a variable plane 7 1s 12 units and the points of intersections
of the plane 7 and X, Y. Z —axes are A. B, C respectively. If the point of intersection of the planes

through the points A, B. C and parallel to the coordinate planes is P, then the equation of the locus
of P1s

(1,1, 1) Dot 08 2,8 80D 001 8 fie) 8o 12 0ArRALD 30k & ehe)0
1 DB0I X, Y, Z -85 DO D0CDaYeN SAT A, B, € €. AET»§ edererdy
DSTOBGOM GO, A, B, C © HOE AL dere) DOt Dotha) P @S, P
330%) DoNG Nanidean

Options:




1. ¥ 1 ¢ E 1 9
(—+—+——1) = 144 (—+—+—)

i ¥ 2 it ¥ Bt
3. ¢

I (i 3 i 0 _ i
(—+—+——1) = 144 (—+ +—)
% ¢ - ogE g

Question Number : 59 Question Id : 4509386619 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

/ . . i
NI VIt — V24 x5+ xC
lim =
x—0 x4

Options :

3
< | =
2]

2
<_| =
M1‘

f“-\-
[



1

32

Question Number : 60 Question Id : 4509386620 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Vx—1

lim——— =
x—1 (cos™1x)2

Options:
1
4
1.
1
2. % 2
1
2
3. %
1
4
4. %

Question Number : 61 Question Id : 4509386621 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



tan(a+1)x+tan 2x

ifx>0
If a function f(x) = { B atx =0 1scontinuous atx =0 then || + |f] =
sin 3x—tan 3x .
et REed
X
tan{a+1)x+tan 2x x> 0
N % v, i >
f(;() N )g aty =10 P-_KJ_QS LQJESDCfDO =0 oj@ @_‘}g)ﬁljr‘f);a@ @Cma E‘J@;}.C@J
sin 3x—tan 3x ]
=== i
X
laf + 8] =
Options :
60
1. %
30
2.9
_ 15
3. %
45
4. %

Question Number : 62 Question Id : 4509386622 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If vV = tall('lﬂg .Jf) ThE'll : —
- ' X dx?

= d?
y = tan(log x), ©ONS d—; =

Options:



—sec?(logx)[1 + 2 tanx]

2
1. %
sec?(log x)[1 + tan(log x)]
2
2. ®
sec(logx)[2 tan(logx) — 1]
x?
3. %
sec?(log x)[2 tan(log x) — 1]
42
4, &

Question Number : 63 Question Id : 4509386623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
For x < 0,— [I215] =
20—k

d
x<0 @éjéﬁ@%&,d—[lxlx] =
X
Options:

(—x)* [-1 + log(—x)]

(—x)* [1 + log(—x)]



() L= log(=x)]

(—x)* [-1 — log(—x)]

Question Number : 64 Question Id : 4509386624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If y = x — x2. then the rate of change of y? with respect to x? at x = 2 13

Y =x —x2 @00, x = 2 9 22 GJals ¥* CRNE) SH)0ED

Options :

0
1. %

—k
2. ®

3
3.

9
4, ®

Question Number : 65 Question Id : 4509386625 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

fT=2n [ ¢ 1s a constant and the relative error in T is k times to the percentage error in L.,

\ g

1
then— =
k

§ =g Jg.gm?};mém 5805 T TG DS 150 L BE, B4 TEMOH

1
k 36D t‘seo“)gﬁ&;:

Options:

2
1. %

1

5 % 200

200
3.+

1
4%

Question Number : 66 Question Id : 4509386626 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle between the curves y? = 2x and x% 4+ y? = 81is

y? = 2x DB x? + y2 = 8 J[5°® 50

Options :



Tan"1(2)
2. %
Tan 1(3)
3.
i
Tan™! (——)
2
4, %

Question Number : 67 Question Id : 4509386627 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the function f(x) = Vx% — 4 satisfies the Lagrange’s mean value theorem on [2. 4]. then the

value of C'1s
f0) = Vi — 283 |D0D0 [2. 4] 2 BP0 alei5ed AT VT0TR) ¢ha)
DODILIONE, € B8, D)

Options :
Z'u’g
1. %
—2v3
2. %



Question Number : 68 Question Id : 4509386628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If x, y are two positive integers such that x + y = 20 and the maximum value of *y is k at

k

232

X,y O x4y = 20 ©3D;EENT C,—en“); 3O ORPTOSEN HBAN x = a,y = f O

¥=ay=pfilen—=

3y 0308}, (106 Dewa) k 908 —— i

Options :
a f
_+_
B a
1. %
a p
f «
2. %
a
p
3.¢



B
afs

Question Number : 69 Question Id : 4509386629 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

- %3 . , | _
J ey (=A4Tan bx + Blog(x — 2) + Clog(x + 2) then 64 + 78 - 5¢ =

i
| % dx = ATan"x + Blog(x — 2) + Clog(x + 2) svon@

64 + 7B - b€ =
Options :
9
1.+
> % 10
6
3. %
8
4, ®

Question Number : 70 Question Id : 4509386630 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



§ 3x? + 7x8 J
: 4
J (x2 4+ 2x + 5x8)2

Options :

X?

5x7 +x+ 2

+c

}C?

_|_
T ke

1
£
B L EL£2)

_l.?

S
2(5x7T + x4 2)

Question Number : 71 Question Id : 4509386631 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

fdx =

[ cosx + x sinx

x(x + cosx)

Options:

log|x? + x cos x| + ¢



X

log |—| +c
x + cosx
2. %
1 | COs X | n
08 X+ cosx ¥
3. %
1
log ‘— —logx 4 ¢
X+ rosx
4, %

Question Number : 72 Question Id : 4509386632 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

2 !
If[ ’ dx = 2log|A(x) = B(x)[+Cand 0 < x Eg then B(”ﬁr) =

J1+3mx

2 T
[ )1+sinxd" 21og|A(x) = B(x)| +C o000 0 25 one , B( /s)

\

Options :

1
*n.,-’l 24 31.-"?

JE-FZ?E-



'n.,-“ll?: + 242
3. %
2
ufz ++2
4. %

Question Number : 73 Question Id : 4509386633 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3 3
If ———dx = = (tanx)®? + —(tanx)4 + ¢ _
J 2¢cos 2x\2 sin 2x > ( )b = (tanx)” 4 c then A

3

J 2cos 3xvy2sin 2x

3, 3
dx = = (tanx)? + —~ (tanx)4 + cwondB 4 =

Options:
1
2
1. %
1
2. %
3. % .



Question Number : 74 Question Id : 4509386634 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
o
" x sin® x 2
] 4 —cos?x =
=T
Options:
2m(1 — log 3)
1. %

i (1 31 3)
s 2108
3
n(l——log?})
4

47(1 —log 3)

Question Number : 75 Question Id : 4509386635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3
j|2 ol dE=
-3



Options :

12
1. %

16
2. %

13
3. v

25
4. % ="

Question Number : 76 Question Id : 4509386636 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0




—65

4.9

Question Number : 77 Question Id : 4509386637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Area of the region (in square units) enclosed by the curves y? = 8(x +2), y* = 4(1-x) and

the Y-axis 1s

y? =8(x+2), ¥ = 4(1- 1) SN0 NO0N Y-898 00T 8560300 (270680

330E), FFOL0 (. S

Options:

8 —

5(5_ 3v/2)
1.4

G =

g(_'\fz = 1)
2. %

8

5(3 — V2
3. %



-

—(V2+1)

d

Question Number : 78 Question Id : 4509386638 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

3
s 8 . dYy dy\? /2.
The sum of the order and degree of the differential equation et (ﬁ) 15

3/'
Y dq" d )2 -
o508 stain L=e+(Z)]” G, s0irmsy Hea S

VG
Options:
4
1. %
6
2. ¢
3. % .
8
4, %

Question Number : 79 Question Id : 4509386639 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The general solution of the differential equation (x + y)v dx + (y — x)x dy = 0is

(c+y)yde + (v — 0)x dy = 0 9380 DaEBe0 By, A erded S

Options :

x + vlog(cy) =0

1. %
1 .
—=log(xy) + ¢
X
2. ®
x + ylog(cxy) =0
3.4
'.1:"
Y — log(exy)
in 2

Question Number : 80 Question Id : 4509386640 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (y% + x + 1)dy = (v + 1)dx is
(72 + x + Ddy = (v + Ddx ©3500D SadEGe0 AB0EY it rede

Options:

x 424+ @+ Dlogly+1)2=y+¢c



'lli"

x+24loglv+1)2i=—+c¢

¥t 1
2. %
. logly +1)*+y+
= log(y v+
N gl : )
3. %
x 42 _ ;
+logly+1)* =y+ec
v+ 1 g( )T =)
4. &
Physics
Section Id : 450938142
Section Number: 2
Mandatory or Optional : Mandatory
Number of Questions : 40 40

Section Marks :
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Clear Response:
Maximum Instruction Time : 0
. -.
Is Section Default? : null

Question Number : 81 Question Id : 4509386641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



E,m, L, G represent energy. mass, angular momentum and gravitational constant respectively. The

2
dimensions of e will be that of
m>G2

Em,L,G € ST 48, (335073, §630% (¢9ed53310 Bk Hcheds VTr08snd

A0, — éil)é?% DR APAN0A,

1115 2
Options :
Angle
§°c20
1.+
Length
s
2. ®
Mass
1§07
3. %
Time
S0
4. %

Question Number : 82 Question Id : 4509386642 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



: : , , 5 . .
A body starting from rest moving with an acceleration otz ms 2. The distance travelled by the

body in the third second 1s:
=} W ” W, 5 -7 « "y v, L,
D30 Ve DOD ADNTON 28 Ss) s 2 ¢ 50569030 & [HOIFER0T) L) B.

30 89 ' 580 (OIS Ertiasny

Options :
15
%o I
8
1. %
25
— I
8
2. v
25
—
3. %
12
—:TH
4, ®

Question Number : 83 Question Id : 4509386643 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A projectile can have the same range (R) for two angles of projection. Their initial velocities are
same, If T, and T, are times of flight i two cases, then the product of two times of flight 1s directly
proportional to

2,8 |98 %50, Boch F6 36 Feasnod |93 Dot 2.8 § Bz NSrosd
P52 (R) $O8 0 6. a7¢3 SE) Tren Maird0. T, HO0I T, e ST (53 2
T (DAITED SN AP0, 68 B (0P SO OV 506

SO0 DENSE BDS SFDHTHOS SO

Options :

4. &

Question Number : 84 Question Id : 4509386644 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If |F * 6| = |§| = |E| then the angle between P and E 1s
[P+ Q| = |P| = |Q] ®@0owd, P 085w Q d&F aEds §eacdn

Options :



D_I:I

1. %

1Zp°
2.

60°
3. %

9*°
4. %

Question Number : 85 Question Id : 4509386645 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A 4 kg mass 1s suspended as shown 1 figure, All pulleys are frictionless and spring constant K 1s
8 x 10° Nm ™. The extension in spring is (g = 10 ms™2)
A0S TG 4 kg |3350° (SerdHOHG0R. @) En)en ddadirso

000 1200 VT80 K = 8 x 10° Nm ™! @90n® ()00 & P (g=10ms™)

4kg

117771777

Options :

2 mm



2 et

2.

4 cm
3. ®

4 mm
4.

Question Number : 86 Question Id : 4509386646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A 3 kg block 1s connected as shown in the figure. Spring constants of two springs K, and K, are

50 Nm™and 150 Nm ™" respectively. The block is released from rest with the springs unstretched.

The acceleration of the block in its lowest position is (g = 10 ms™2)

IS IHRAD 3 kg © O 20JToFN K, K, O HSONT
50 Nm 200050 150 Nm ™ (16 (20 ©80 82, 1206 06 FPie Bk
BRI ATHHVE D0G SO, WONB AR TR o) TR0 G )y

¢ 636207 (g = 10ms™2)

kg

K,

Options :



10 ms ™2

1.

12 ms™?
2. ®

8 ms ™2
3. ®

8.8 ms 2
4. %

Question Number : 87 Question Id : 4509386647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two bodies A and B of masses 2m and m are projected vertically upwards from the ground with

velocities u and 2u respectively. The ratio of the kinetic energy of body A and the potential energy

of body B at a height equal to half of the maximum height reached by body A 1s

2m o800 m (3S5TmHen e Tt HdHen A HBAM B Ard hodk ez
00T ST uOAN 2u FTOS 38 DIGDAETAN. 9 Ne) A BT K62 AHES
R0 D) S 23nDa) A C30E), ({6323 45 aBA siede) B OINEY D3z 48 A1)

Options :
|
1. %
1:1



4.

Question Number : 88 Question Id : 4509386648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A body of mass 2 kg collides head on with another body of mass 4 kg. If the relative velocities of
the bodies before and after collision are 10 ms™ and 4 ms™ respectively. the loss of kinetic

energy of the system due to the collision 1s

2kg (59508 1) 2.8 58069 4k (93509 (1) 0TE S0eH& DDA @DPedo
20200, 9IS 00D HOOH BIFTAE SRaTeh )0 s, JPe

AT 10 ms ™2 OO 4 ms™! @ON, WITHO 00 3eIe) ﬁ@&éi@‘&) 380

Options :

- 28]

56 ]
2.9

84]

42]



Question Number : 89 Question Id : 4509386649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The moment of mertia of a solid sphere of mass 20 kg and diameter 20 cm about the tangent to the

sphere 1s

3635T0° 20 kg SHBAKD P50 20 em (1) 2.8 20 A0 Gy )0) B Baks

20869 § |2Pa80

Options:

0.24 kgm?
1. %

0.14 kgm?
2. ®

0.28 kgm?

0.08 kgm?

Question Number : 90 Question Id : 4509386650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A wooden plank of mass 90 kg and length 3.3 m is floating on still water. A girl of mass
20 Kg walks from one end to the other end of the plank. The distance through which the plank
Moves is

18595073 90 kg DO chey 33m ) 2.8 Ty O AOEHT &53), N 3 Bew
0. (B50°8 20kg (10 2.8 2P 2O 2.8 DG DOG DTS VIO G
39990, 20 86 &rdo

Options:

30 cm
1. ®

40 cm

80 cm
3. %

60 cm
4,

Question Number : 91 Question Id : 4509386651 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a time of 2 s, the amplitude of a damped oscillator becomes : times its wnitial amplitude A. In

e

the next two seconds, the amplitude of the oscillator 1s
oy — W, =Y a Uy Vi v ono 1
255008 28 ®30¢ Berdo TE) L0293 HODS TR &) L0 HONS A -

BEY @D, S Foch DE0EES, B¥0 TE, 502 HBWS

Options :

1.



F
2
2. % °
1
2
3¢ ©
2
o2
4. %

Question Number : 92 Question Id : 4509386652 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A particle 1s executing simple harmonic motion with a tume period of 3 s. At a position where the

displacement of the particle 1s 60% of 1ts amplitude, the ratio of the kinetic and potential energies

of the particle is

2,8 §800 3 5 © BOTN3N 2O0S N8 {708 TS0 Do), 860
5050, TR 5020 DB 60% D3 TS0 & 8890 GR0E} (fedes SHAON

22 1) D)

[

Options :



Question Number : 93 Question Id : 4509386653 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The acceleration due to gravity at a height of 6400 km from the surface of the earth is 2.5 ms ™.
The acceleration due to gravity at a height of 12800 km from the surface of the earth is (Radius of

the earth = 6400 km)

4

A G000 DOG 6400 km ) IO DB 55690 2.5ms ™2 AT GO0

00C 12800 km €8 236 (HX5eh § & $5€90 (257 TG0 = 6400 k)
Options :

1.11 ms™2
1. &

1.5ms ™2

2.22 ms 2

1.25 ms 2



Question Number : 94 Question Id : 4509386654 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

When the load applied to a wire 1s increased from 5 kg wt to 8 kg wt, the elongation of the wire
mcreases from 1mm to 1.8mm. The wotk done during the elongation of the wire is

(Acceleration due to gravity = 10 ms™2)

2,8 1% ®DH0DAS 27T Skewt HOG 8kgwt K DO, &S FHSE
tmm 0G 18mm H DOAD. & FHGOS 288 59 (DSed§ ¢ 5890 =

101113'2)

Options :

47 x 1073 ]

72% 10 7]

25 x 1073

97 x 1073 ]

Question Number : 95 Question Id : 4509386655 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The radius of cross-section of the cylindrical tube of a spray pump is 2 cm. One end of the pump
has 50 fine holes each of radius 0.4 mm. If the speed of flow of the liquid mside the tube is
0.04 ms™. the speed of ejection of the liquid from the holes is

28 () D02 WS DOFDIS FEIY0 2 em. 0 28 DG 282863 0.4mm
FEIG0 O 82 BoIGreD 50 &R0, )0 SN0 1K) [T 36 0.04ms™

0N JO|T'® DO IR (0 56
Options :

6 ms !

2ms !

4ms1

Ims !

Question Number : 96 Question Id : 4509386656 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The temperature difference across two cylindrical rods A and B of same material and same mass
are 40 °C and 60 °C respectively. In steady state. if the rates of flow of heat through the rods A and

B are n the ratio 3 : 8, the ratio of the lengths of the rods A and B 1s

23 Derdod Tobhad, &3 (35507 0 A AN B @ Bodh s §Ge
D60 3 Ko G Den SENT 40°C SHB 60°C. AOLE PSS, A
5805 B 330 500 daar B60e D)8 3:8 ond, A HOO B 536
SPAHEN AN

Options :

1-3

53

4-3
3. v

¥

Question Number : 97 Question Id : 4509386657 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The efficiency of a Carnot cycle is e By lowering the temperature of sink by 65 K. it increases to
I ;
= The initial and final temperature of the sink are

2,8 50 180 G08) (356 - . BerdoN0 &I 65K Shothey 5o o

as | =

68657 H0m6). ©0w8 Feriaiho oiugy 89 Hiaky 816 erfien
Options :

400 K,310K
1. %

525 K,65K

309K,235K

325 K,260K
4. &

Question Number : 98 Question Id : 4509386658 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ina cold storage. ice melts at the rate of 2 kg per hour when the external temperature 1s 20 °C. The
minimum power output of the motor used to drive the refrigerator which just prevents the ice from

melting is (latent heat of fusion of ice = 80 cal g™%)

2 G511 20 °C €09)9)ch, 2.8 A0 AGORS' S0t HOEIE) 2 ke BEN Toy)d
0D, Do EDHRS AT, S5 aboo YR
EON0T APEP) GRNE) SR AGe Rrandseny

(0T (5850 D8R0 =80 cal g ™)

Options :

285W
1. %

13.6 W
2.

.75 W

16.4W

Question Number : 99 Question Id : 4509386659 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A Carnot engme has the same efficiency between 800 K and 500 K. and x > 600 K and 600 K.

The value of ‘%' 1s

2,850 000(0 800K HBAN 500 K. x> 600 K OGN 600 K © 0655 28 (98 ebedd
SN GOLVOG. BONSB % DEN

Options:



1000 K

1. %

960 K
2.

846 K
3. %

754 K
4. %

Question Number : 100 Question Id : 4509386660 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When the temperature of a gas 1s raised from 27 °C to 90 °C. the increase in the rms velocity of

the gas molecules is
2,8 POIa) G308), &5 27 °C H0G 90 °C ) DO ey ), € AN e
rms SHOS DEODEE

Options :

10 %
1.4

15 %

20 %
3. %



17.5 %

Question Number : 101 Question Id : 4509386661 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the frequency of a wave is increased by 25%. then the change in 1ts wavelength 1s (medivm not

changed)
2,8 G000 TRNE), Tedza) TR, 25% DOV, T eﬁéoﬁgggoé‘ Q o) (OSPS5O
SPEB)

Options:

20% mcrease

20% DM

1. #
20% decrease
20% e5(Pde>
2. %
259% increase
25% MDA
3. #®
25% decrease
25% e5H o
4, &

Question Number : 102 Question Id : 4509386662 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An object lying 100 cm mside water 1s viewed normally from air, If the refractive index of water
15 g then the apparent depth of the object 1s
ABES 90 100 em 9 10 2,8 SeHoD PO D0 ©ODOT Lra . A8 o9 8256509

4 W — ad W
(‘09&&‘)()56—_‘1}&1}3 &3 9s) T8, (3935 Seh
Options :

100 cm

1. %

50 cm

25 cm

75 cm
4.

Question Number : 103 Question Id : 4509386663 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Young's double slit experiment, two slits are placed 2 mm from each other. Interference pattern
15 observed on a screen placed 2 m from the plane of the slits. Then the fringe width for a light of

wavelength 400 nm 1s

0H0f & 5D (HAFHOS Toch DOZOR 28mATEE 2 mm (oS @Ko ).
S5E868 o5, VOO B0 N0 2m ArdoS G0 B SO0
SGOBY50 400 nm EDNS OB HE3 Schen)

Options :

0.4 %10 %m

4% 107%m

0.4x103m

400 m

Question Number : 104 Question Id : 4509386664 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two spheres A & B of radii 4 cm & 6 cm are given charges of 80 nC & 40 nC respectively. If they

are connected by a fine wire, the amount of charge flowing from one to the other 1s

3TN 4 cm oDBOK) 6.cm (16) A DO B &R BOch Fgrerdy YT 80 uC & 40
1C 8370 2550059, 8 30ch Fered 9910 e 4098, 2.8 fo Hod
OGINE RS (NPT NSTRF0 OE?



Options :

32uC fromBto A

B DO A 80 32 uC

1. %

32 uC fromAto B

A DO BB 32 puC
2. ¥

20 uC fromAto B

A oG B 5020 uC
3. %

16 uC from B to A

B DO A B0 16 uC
4. %

Question Number : 105 Question Id : 4509386665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The angle between the electric dipole moment of a dipole and the electric field strength

due to it on the equatorial line is
28 5B B0 B8, AJEINTNTS, 8 A0 B8 WD
©0VODZ) DR DN & DN 3 [T s §ea0

Options:



90°

180

27

Question Number : 106 Question Id : 4509386666 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two condensers ;& C, in a circuit are joined as shown in the figure. The potential of point A1s V;

and that of point B is ;. The potential at point D will be

Vi v,

¢ & )

A B
g 2 g

TG0 e ¢ HBA ¢, OB NS TR Jogro Tohadaron. A

B0 B D0he)® SO FBVOHO DT ¥, 0O ¥, @00, D Hoche) 98

FDAHO
V-]_ \,."'3
¢ L 9
A B
G g
Options:
1
5 (V1 +V3)
1. %



C,Vy + G115
C; + G,

CiVy + GV

{: C
3. ¢ 1+ €2
C,Vy — GV,
C; + G,
4, %

Question Number : 107 Question Id : 4509386667 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A block has dimensions 1em,2cm and 3em. Ratio of the maximum resistance to minimum

resistance between any pair of opposite faces of the block is

2,8 B Ch08) réden 1em, 2em SOOI 3em. BT OIEY D) SO TN
Bere) ¢33 (105 HBAN A AT A

Options:

9:1
1.4

1:9

18:1



6:1
4. %

Question Number : 108 Question Id : 4509386668 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A current of 6 A enters one corner P of an equilateral triangle PQR having three wires of resistance

2 () each and leaves by the corner R as shown i figure. Then the currents I; and [, are respectively
2,558 20 G0N Lrh oS PR ©F dha [2ha0 Tanadse.
6 A DCHSES (a0 (B0 TNE, P re) 17 507 S D8 (93900 D80S HraieD

R 070 T 507 Y 2DOD0O. 0N DS |aPsFeN Iy, I, O DT

Options:
4A2A
1. %
3A3A
2. %

6A,0



2A,4A

Question Number : 109 Question Id : 4509386669 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The value of shunt resistance. that allows only 10% of main current through the galvanometer of

resistance 99 Q 1s
BB 99 Q 6 PO FsSTIE0 T ST° T DS (aFaFOES 3500 10% (ehad

90N 3B 208 ABG0
Options:

9L

4 Q

11 €2

Question Number : 110 Question Id : 4509386670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In hydrogen atom an electron is making 6.6 « 10 rev/s around the nucleus of radius 0.47 A. The

magnetic field induction produced at the centre of the orbit is nearly
TEBS DESPE)S 28 VTR 047 & P10 0 Fo[BE0 AT DEDE
6.6 x 105 B0ETEN DY) E. JO|TR §55 5000 36 9D 06h 3¢ e

Da) (FT0)

Options :

0.14 wh m ™2
1. #

1.4 wh m™?2
2. ®

14 wh m™2
3. %

140 wh m™2
4. %

Question Number : 111 Question Id : 4509386671 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Any magnetic material loses its magnetic property. when it 1s
DB @AD06 D0 I )ch R WD 08 Yo, §S 0o

Options:

Dipped in water

DE3S’ SMODS D

1. %



Dipped in sand

. RNES” SN0

Attached to an 1ron piece

2,8 Qe 230ELE0 @380
3. %

Heated to high temperature

0O S HBE SAT1SEHE
4.

Question Number : 112 Question Id : 4509386672 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When two coaxial coils having same current in same direction are brought to each other, then the

value of current i both the coils
2.3 O3S Hared DS (DY), Boch HFEAD B DHOD 2ETTEES
SHET BAIND, & TOh SHVEOS DS (HaFar0 Densd

Options :

Increases

DD TOCHDNOE

Decreases

8 3Nod
2.



Remains same

S3HBVOCS VSO s0LNOD

Increases in one coil and decreases 1n other coil

28 SNL S’ SHOTOS HTE HHS' §3N0d
4,

Question Number : 113 Question Id : 4509386673 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A resistance of 20 (0 1s connected to a source of an alternating potential V = 200 sin(10mt). If t is

the time taken by the current to change from the peak value to rms value. then 't’ is (in seconds).

V = 200 sin(10mt) 5068 PO 25508 20 0 AO0 §0NB0O. T DS
DaT0 3G DENsd OB rms NENSH STOTRS DT 't BONS 't Dens)

S oS

Options :

i e
1. %

28% 107t

25 X 1072
3. %

T | i



Question Number : 114 Question Id : 4509386674 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The average value of electric energy density in an electromagnetic wave 1s.

[where E,, is peak value]

2.8 DEDZEONTL06 SBEOHOS DS 3§ 01CIed TRNEY AN Densd?
[E, =3 eNa]

Options :

ED E?ms

4

1. %

 §

E Eo Eg
2. %

1

E €0 Eo
3. %

1

Z Eo Eg
4.«

Question Number : 115 Question Id : 4509386675 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An electron of mass ‘m’ with initial velocity v = vyl (v, > 0) enters in an electric field E= —E,i
[E, is constant > 0] at t = 0. If A is its de-Brogli wavelength initially. then the de-Brogli wave
length after time ‘t’ 15

W (33503 ¥ = vyt (vp > 0) BOSHO §0 2.8 T E = —Eyf (Eg > 0) §0 A3
510 SR8 =06 (NF90D00. & doFS &) &5 Sdoif B0 1 oS,
5700 0e 56 A5 1 ol Bso.

Options:
A
. 4 BEE
b mv,
1.+
A
(1 - eEﬂt)2
mv,
2. %
e Ept
B
( i mv,
3. %
(1455
mv,
4. ®

Question Number : 116 Question Id : 4509386676 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



1t — meson of charge ‘e’. mass 208 me moves in a circular orbit around a heavy nucleus having
charge 4+3e. The quantum state ‘n’ for which the radius of the orbit 1s same as that of the first Bohr

orbit for hydrogen atom 1s [approximately]

6530 ‘¢, 5550 208 me i) 28 p- DD +3e WBF0 ) 2rET0IE3E0 e
S9TEE $8565 BEHA0O. O 55000 B ' K A 85 F5Yo WERS
DO BE) A 8D 855 T TR NSTeT R0 [Nerddm]

Options:

n=20
1. ®

n= 25
2.

n= 28

n = 29

Question Number : 117 Question Id : 4509386677 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A nucleus with atomic mass number A’ produces another nucleus by loosing 2 alpha particles. The

volume of the new nucleus is 60 times that of the alpha particle. The atomic mass number A of the

original nucleus 1s

A (6555078 098 10 28 S01¢h80 Boch Bser) Serersd) S )5¢80 o §0° s BE §'éh

S0[005R) Geh ) Tod. & 5 So|t%0 GE) MNBarso ser) &

DNIDOSPETS 60 TEY, @aNS SE) S0(0) HSTED D3T3 0D (A)



Options :

228
1. %

238

248
3.¢

244

Question Number : 118 Question Id : 4509386678 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A full wave rectifier circuit is operating from 50 Hz mains, the fundamental frequency i the ripple

output will be
28 538 3011 8T 063 HOAN0 Aa3F00C 50 Hz © Zadesd 50 Eenndadd.

&3 50083 AP 0 IEIT IO [BPENE Fedey350 DN

Options :

50 Hz
1. %

0.7 Hz
2. ®

100 Hz

3.¢



25 Hz

Question Number : 119 Question Id : 4509386679 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A PN junction diode is used as

Options :

An amplifier

INTOL AN
1. ®
A rectifier
DEOE) B3
2.
An oscillator
EerEdnm
3.
A modulator
o s .
S sBED
4. %

Question Number : 120 Question Id : 4509386680 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A carrier 1s simultaneously modulated by two sine waves with modulation indices of 0.3 and 0.4;

then the total modulation index 1s

NTCBAR (Heasen 0.3 SO 0.4 € e Boch A BEOTE T 50° 2,300 2.8
006 Sdofio SrdsBad Dabadod. & HEANS o SrBad
D850 .

Options :

.1
1. %
5> % 0.12

0.5

3.¢

07
4, ®
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Question Number : 121 Question Id : 4509386681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The angular momentum of an electron in a stationary state of Li** (Z=3) is 3h/7 . The radivs and

energy of that stationary state are respectively
L (Z=3) S 2 DETNS JOFS Se3ch ((ed53K0 /7. & DTan B,
500, 3900 M

Options :

3174 A, =545 %107 ]

1. %

6348 A, —545x 10719 J
2. ¢

6348 A. +545 x10718]
3. %

2116 A, —545x 10712 J
4. %

Question Number : 122 Question Id : 4509386682 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the pair of elements in which number of electrons i (n—1) shell 1s same

D 208 Srosed [@-1) §500 S0 M oS O[T Gotrddr

HB0tS

Options :

Fe. Mn



2. %

K. Sc
3. %

Mn, Cr
4.,

Question Number : 123 Question Id : 4509386683 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List- List-II
A | Ionization enthalpy I |P<Si<Mg<Na
B | Metallic character I |I<N<O<F
C | Electron gain enthalpy I |B<Be<C<O<N
D | Electro negativity IV |[I<Br<F<C(l

1506 3R 2edIGH0H

A e -l
A | STrREA JOTO) I |P<Si<Mg<Na
B | Sa5 ¢S50 I |[I<N<O<F

C | do|FS |mTsdogrd)) | I [B<Be<C<0<N

D | &ed Dehzered 8ed IV |I<Br<F<Cl

Options:

A-IIT B-IV C-I D-II



A-TII B-I C-IV D-II

2.

A-TV B-II C-1 D-III
3. #

A-IV B-III C-1 D-1I
4. %

Question Number : 124 Question Id : 4509386684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The correct order of bond angles of the molecules SiCly. SO3, NH3. HgCls 1s

SiCly, SO3, NHz. HgCl @9£0a9© SO 2506 86 (520
Options:

SO3 = Si1Cl4 = NH3 = HgClh

1. %

SiCly = NH3 = HgCl, =803
2. %

HgCl2»>S03 > NH3 = 81Cl4
3. %

HgCl =803 > Si1Cl4 > NH3
4.

Question Number : 125 Question Id : 4509386685 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Observe the following structure

0=N-0:
(1) @ (3)
The formal charges on the atoms 1. 2. 3 respectively are

808 DT80 283D 00k

0=N-0:
1) @ 6
HBETENHEN 1,2, 3 NS SO 333 N SO

Options :

+1 0. -1
1. %

0 0. -1
2. ¢

-1 0. +1
3. %

0 0, 0
4, ®

Question Number : 126 Question Id : 4509386686 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below

Statement-I: The ratio of the molar volume of a gas to that of an ideal gas at constant temperature
and pressure 1s called the compressibility factor.

Statement-1I: The RMS velocity of a gas is directly proportional to square root of T(K)

The correct answer 1s

1506 BOCH ar§DIEN B 2B

Tt Q0DGS hefod, 2F &is TS deTony Irerd
DINOSTERRS, 38) PO FETD HINOSTERDS o) A& P
NIV

32 28 T RMS S0, TEK) SU0rerds 9 S wirdareiod Gotnod

QDA TG

Options:

Both statement-I and statement-II are correct

3§20 5T o BOR 3§ §-1T BOCET DB
1.¢

Both statement-I and statement-II are not correct

3§ §-1 0O 5w §-1T BOCET OO 576

Statement-I is correct but statement-II not correct

O° 5D ST OOADAE 5% a7 §S-IT SEQDE 5°¢D

Statement-I 1s not correct but statement-II 1s correct

o §D 51 QBN 5°CN 5 o §WE-IT AEDAE

Question Number : 127 Question Id : 4509386687 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At 133.33 K. the RMS velocity of an ideal gas is

(M = 0.083 kg mol™: R = 8.3 Tmoll K1)

133.33 K 9, 2,8 e3¢58)a°0306) RMS 50

(M =0.083 kg mol': R=28.3 Tmol! K1)

Options :

200m s
150 m s

2000 m 5!

400 m 57!

Question Number : 128 Question Id : 4509386688 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements
Statement I: In the decomposition of potassium chlorate. C1 1s reduced
Statement IT: Reaction of Na with O» to form Na>O 1s a redox reaction

The correct answer 1s

1505 TOCD 7§05 B ST

T 55- I: SPEFNaH0 §TE DTBrocS , €1 § 09850 ToH0
58-I 02 Na D35 SO Naz0 G0 2,8 85 ) 338
HBTS HSPTTSE0

Options :
Both statements-I and IT are correct

S §- 1 DB ° s §- IT TOCHT OB
1.4

Both statements-I and IT are not correct

oS E-T DO 5 $- IT BOCH BN 576

2. ®
Statement-I 1s correct but statement-II 1s not correct
L TSDS-I QEADAE 55 I §WE- IT QORI 5°CH
3.
Statement-I 1s not correct but statement-II 1s corract
L x TEPS I O8QDAE 57N 5°Q) P §W§- IT ABADIE

Question Number : 129 Question Id : 4509386689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following reaction

TK
25(8) + By(e)— 2 >2A,B(g) + 600 kI

The standard enthalpy of formation (ﬂfH 9) of AxB (g) 1s
1808 VB8 HBBODOTSW

. T(E)
2A,(g) + By(g)—2A,B(g) + 600 kJ

AB (g) BB0EY 1050780 D030 JOGrd)) (4,HO)

Options :

600 kJ mol™
1. #

300 kJ mol®
2. ®

—300 kJ mol?!
3.

—600 kJ mol™
4. %

Question Number : 130 Question Id : 4509386690 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the molecule for which the enthalpy of atomization (ﬁﬂH e) and bond dissociation
enthalpy (ﬂbomj H 9] are not equal
DOSreI88e QOGE"@;. (enthalpy of atomization) (A,H® s B0K 202

0T, (Bpona®) 2 SEVYH Nadssn 6 TR DAoL

Options :



1. #
Clo
2. ®
3 % F>
CHa
4, &

Question Number : 131 Question Id : 4509386691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

T(K)

g A (g —_— ; :
K. for the reaction, ~ © B, (@) 15 99.0. Ina 1 L closed flask two moles of B (g) 1s

heated to T (K). What is the concentration of B2 (g) (in mol L™*) at equilibrium?

T(K)
A (g) By (8) %558 Ke 0055 9.0, S0m 20 2.8 1 Lar@ Doch 306 ©

By () A T (K) 650 36 TR, 0@ ¢ By (2) ehed (mol L1065) d0es?

Options :

0.02
1. %

1.98
2. ¥

0.198



Question Number : 132 Question Id : 4509386692 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At27°%. 100 mL of 0.4 M HC1 is mixed with 100 mL of 0.5 M NaOH solution. To the resultant

solution, 800 mL of distilled water is added. What 1s the pH of final solution?

27%C 3¢, 100 mL © 0.4 MHCI Q 100 mL © 0.5 M NaOH & EOaP8. 860 [TadeTR8
800 mL 56300 27 SOarE. 06 |TaIeaa) pH J0eh?
Options:

12
1. ¢

Question Number : 133 Question Id : 4509386693 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

‘X" on hydrolysis gives two products. One of them is solid. What 1s “X"?

X' 20 D60 TOO Boch §orETsO 2008, TS 258 Svardo. X'

E?



Options :

P4O1o
1. #
2 % 12
S1Cly
N+
4. %

Question Number : 134 Question Id : 4509386694 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ba. Ca. Sr form halide hydrates. Their formulae are BaClyxH20. CaClo.yH20. StCly.zH20. The

values of X. . z respectively are

Ba, Ca, St & &30 2FB& ©ed )00, FE PPN BaClhxHy0, CaClyH0,

S1CL.ZH10. X, V. 2 © 200 oI,
Options :

2,6. 6
1.

I3

8. 6,

8.6.6



6.4,2

Question Number : 135 Question Id : 4509386695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

\%/b_;\( blcl
gt Sl

The bond angles by, b,, b3 in the above structure are respectively (in 9)

&

2 DT26065° 23065 ST by, by, by ST © )

a

Options:

79,101,118
1. %

118,101, 79
2. ®

79, 118, 101
3. %

11879101
4,

Question Number : 136 Question Id : 4509386696 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following oxides is acidic in nature?

806 e33)8 ¢S B €350 (099 EercH?
Options :

GeO2
1. %

O

PbO»

SnO

Question Number : 137 Question Id : 4509386697 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-I List-II
(F~ 1on concentration (effects on humans)
in drinking water)
A | <1ppm I | Harmful to bones
B |>2ppm IT | Tooth decay
C |=10ppm [T | Brown mottling of teeth
Correct answer is
18065 aPe3Q 2365 TAHOG
-1 O I
(F~ 9057 Caeb (GO (D2T0)
T e3S)
A |<1ppm I | Qadndedy 580
B |=2ppm I | 5y 8 eoeh
C |=>10ppm I | H%97 12570 Soid
208100 B )CHE0

Options

A-TII B-1I C-1I
1. %

A -TII. B-1L C-1II
2. %

A-TIL B-L C -1III
3. %

A-TL B - III. C-1I
4.

Question Number : 138 Question Id : 4509386698 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of nucleophiles in the following list is

CH3sNH,. CH3CHO, C:;Hsa. CH3SH

806 23)ereS IrgSATr RO © DO

CHsNH2. CHsCHO., C;Hs. CH3SH

Options:

3
1. %

[

2.

Question Number : 139 Question Id : 4509386699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An alkene X (C4Hg) on reaction with HBr gave Y (C4HoBr). Reaction of Y with benzene in the

presence of anhydrous AlCI; gave Z which 1s resistant to oxidation with KMnOy4 - KOH. What are

X. Y. Z respectively?

2,8 80} X (C4Hls) HBr & 965500 Y (CiHoBr) & 3008, 0§ Alck H:v§ 0

Y B8R & 85508 Z o 208, KMn0s- KOH & e38)8667) Z A5AN0A. X.

Y. Z 00 S 2)?

Options :

1.



Lok o

o
)\ )\/ Br m
2. ® ,
/Y fﬁf‘\jf"xv,/“mx
AN Br g
3. %
[
AN TN N
4, %

Question Number : 140 Question Id : 4509386700 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A solid compound 1s formed by atoms of A (cations). B (cations) and O (anions). Atoms of O form
hep lattice. Atoms of A occupy 25% of tetrahedral holes and atoms of B occupy 50% octahedral

holes. What 1s the molecular formula of solid?

25 NAINTO ASEIOTVEN) BSEOITED) B0 0(BI0SFIeN)
DEIPENNOT IGIBOE. 0 DGTENYEN hep ZPOTR) B IHTOW. A
DOSTENHEN 25% T EF TGO O[T SENOIT, B TN 50%
TGO GO[TTON BIENOTTON. DT Ee) SN FEET AE?

Options :

AB20O4

ABO>
3. %

A2BOy

Question Number : 141 Question Id : 4509386701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The density of nitric acid solution is 1.5 g mLl, Its weight percentage is 68. What is the
approximate concentration (in mol L) of nitric acid? (N =14 u; 0 =16 w: H=1u)
3635 ea) | c7s3€90 0| 965 1.5 gL B aetiaehssy 68. F|E357o mrched mol LT &
PP J0? (N=141; 0=16u; H=11)

Options :

1. %



11:6
2. ®

18.2
3. %

16.2
4, &

Question Number : 142 Question Id : 4509386702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The osmotic pressure of sea water is 1.03 atm. Four experiments were carried as shown in table.

In which of the following experiments, pure water can be obtained i part-II of vessel.

Da|E A ISTEIGE DCBedesn 105 atm. HEES ArRS SO et (TP
0T, 1§00 O (NABFTOS, PSS Q T arioeS HERS A ©DothH?

piston piston
|| I
e w o E - -Seawater -~
R o ::as?m;‘oga z
Table (3435) i
Expt. No. | Pressure applied in part-I of Vessel | Pressure applied in part-II of Vessel
I 10 atm
II - 10 atm
III 15 atm
IV - 15 atm
Options :
I. III only
I, IIT o30° €5 230
1.4
IL. IV only
I, IV o307 €550
2. %
L IL, I01, TV
3. %



IV only
IV 3075330

Question Number : 143 Question Id : 4509386703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Aqueous CuSOy4 solution was electrolysed by passing 2 amp of current for 10 min. What is the

weight (in g) of copper deposited at cathode? (Cu = 63 u; F = 96500 C mol™)

28809008 DS & 10 VLS 37D CuS04B0) THROS § 09 DESS NINE

0T, S6G S5O A8 N 596 2750 (5 ©F) D0eh?

(Cu=63u; F=96500 C mol )

Options :

0.195

Question Number : 144 Question Id : 4509386704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



For a first order reaction. the concentration of reactant was reduced from 0.03 mol L™ to 0.02
mol L™ in 25 min. What is its rate (in mol L™2s~1)?

2,8 006 185708 30550, 808rBS8) mehed 25 Aared 0.03 mol Lo 0.2
mol L™2%) 508, T BE (mol L 5™ ©¢5) oeh?

Options :

6.667 x 107°
1.

4 x 1074

6.667 x 107

3 % T

Question Number : 145 Question Id : 4509386705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



‘X" 1s a protecting colloid. The following data is obtained for preventing the coagulation of 10 mL

of gold sol to which 1 mL of 10% NaCl is added. What is the gold number of *X'?
X 2.8 HBBE TranG. 10mL © FO =S %, 1 mL © 10% NaCl  $)Dd:)ch, 267
30858506 darBottysS 1808 EFodn ©DoN0d. X B FO NSows

20e?
Expt No. Weight of X (in mg) added to gold sol Coagulation
HARH Do g | K S 5 (DD X80 mge) | Hp0&Sm
Not prevented
| 24 . )
(TBOVGBY)
Not prevented
2 23
(QarBod8B )
Prevented
3 26
(RrOodBOR)
Prevented
4 o
(Nr8oG00)
Prevented
5 25
(RFO0BOR)
Options :
24
1. %
5 % 26
3. % .
25

4.9



Question Number : 146 Question Id : 4509386706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which sol 1s used as mtramuscular injection?

&) O & E0c8Tr064¢ (intramuscular) Q028 & T S CEH?
Options :

Antimony Sol

o 80330 O
Silver sol
, ¢ OO 6 O
Emulsion of milk of magnesia
MO €85 ) VAT DS
3. %
Gold sol
O ard
4. &

Question Number : 147 Question Id : 4509386707 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The reactions which occur in blast furnace at 500 — 800 K during extraction of won from haematite
are
DO D08 D6 AP0 S T FOM & 500 800K S B8 H85e0
1. 3Fe03+C0O — 2Fe304 1 CO;
i. Fe)03+3C — 2Fe+3C0O
i,  Fe304+4C0 — 3Fe+4CO)
iv. Fex03+C0O— 2Fe 0+ CO2

Options :

i, 11, 1it, iv

1. 11. 111 only

2. %

1. 1v only
3. %

1. 1ii. 1v only
4. &

Question Number : 148 Question Id : 4509386708 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following reactions give phosphine?
L Reaction of calcium phosphide with water
i.  Heating white phosphorous with concentrated NaOH solution in inert atmosphere
. Heating red phosphorous with alkali

508 &) HB5 TP o FD)eD?
L B8 TOAN0 RIS
i B0 TEIGE0S e NaOH (3608 8L F)0R & FG Tohoe
i, 500 & O TN & S DAV

Options :

1. i1 only

i, i1 3075 o0
2 % 1. 11. 111
11. 111 only
i1, 1ii o37° €530
3. % B
1. 111 only
i, 11 o307 €530
4. %

Question Number : 149 Question Id : 4509386709 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which transition metal does not form ‘MO’ type oxide? (M= transition metal)

2 HBIBS S'5P0 MO’ 355 &858 & BIETIN? M = HBI8S S'570)



Options :

vV
1. %
2. O

Mn
3. %
4@ €

Question Number : 150 Question Id : 4509386710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The paramagnetic complex 1on which has no unpaired electrons in tog orbitals is

e S8)EPFIS 2,068 JOITS €0 B HTOHY 069 0T 0TS

Options:
[Fe(CN)g]*~
1. %
[Fe(CN)] "
2. ®
[Zn(NH3)6]*
[Ni(NH3)6]**

4, &



Question Number : 151 Question Id : 4509386711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is an example for fibre?

BOB ¢3S DA FFHES 28 STTEE?

Options :

CHE_{T‘H
Bl i

n

2. %
CH,— ¢ =CH—CH;
Cl
3. % -
C}C‘@—(‘D—O—(‘HECHEO
11
4.

Question Number : 152 Question Id : 4509386712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When glucose is oxidized with nitric acid the compound formed 1s

(1°5%25 3 F1€35 @0 38158620 TODODSNED ) e P
Options :

Gluconic acid

(r5°T e300

1. %

n-hexanoic acid

n-20"8 )3 Q05N 0

Sacharic acid

A5 5%0 050
3. ¢ ™

Cyanohydrin

DODS 3FES
4. %

Question Number : 153 Question Id : 4509386713 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of essential and non-essential amino acids from the following list respectively 1s

1806 AN @570 ) &' @3558 OO BRTFEE NS BaPO oS HHIT
Val. Gly. Leu, Lys. Pro, Ser

Options :

3 1



-3

!d
I

4.

Question Number : 154 Question Id : 4509386714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following pair is not correctly matched?

1BOB 58365 DB 23ed TOHDB BOE DE?
Options :

Salvarsan — to treat syphilis

e 0T — VR a5 DEed 50

1. %

Luminal — Antidepressant

DO — 0Ir0e3 BNV
2. ¢

Morphine — to treat cardiac pain

S8R — HOT 3"V NI BOTNEIZ

Acetylsalicylic acid — Antipyretic

i DVBO OV @810 — 22507V HHODE
4.



Question Number : 155 Question Id : 4509386715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An alkene X (C4Hg) does not exhubit cis trans isomerism. Reaction of X with Bry in the presence

of UV light gave Y. What is Y?

SOLS X (Calf) DR-EFD) TSR, (N0, X, UV 508 e 0 By

D500 Y Q 03008, Y 6?7

Options :

Br

Br

I

2. ®
/Br\/
3. o
/\l’/\Bl‘
Br
4. %

Question Number : 156 Question Id : 4509386716 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The two reactions mvolved in the conversion of benzene diazonium chloride to diphenyl are
respectively

B0AS BOHETAHMD SBE D BIFTO T &r8)0¢ 7S Boch L8500 BT

Options :

Swarts, Fittig

o 5€). pEN

1. %
Gatterman. Swarts
TEDNR, 58
2. ®
Sandimeyer, Wuitz
F06 OHD, &5
3. %
Sandmeyer. Fittig
. F0&% oNO. DER

Question Number : 157 Question Id : 4509386717 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Consider the reactions

H.C
? (1) 04

{:‘:CH - X+Y

H,e™ > (2) ZWH,0

(1) dil.NaOH
X+Y -
(2) A

The TUPAC name of *Z’ 1s
1808 B850 D8HEFOTH

H,C
N\ (1) O3
/C:CHZ .- = XY
HAC (2) ZW/H,0

(1)2OF% NaOH
(2) A

X4Y

‘7> G305}, TUPAC %00

Options :

But-1-en-3-one

2237 §83-1-8R8R-3-200

4-Hydroxybutan-2-one
4-37G 8 )2 S BIR-2-200

But-3-en-2-one

237°£8]-3-BRR-2-8u0
3. ¢

£



1-Hydroxybutan-3-one

1- 338 )20 s BOD-3-80 0
4. %

Question Number : 158 Question Id : 4509386718 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Consider the following reactions

1508 DB DBNEIOTHAN

N,Cl
H0 Conc. HNO;
> X P
283 K
Br, /[ H)0
Z
Y and Z respectively are
Y. Z e ST
Options :
Picric acid (2.4.6 — Trinitrophenol. 2.4.6 — Tribromophenol

2185 @0 (246 - DTS DO),  2.4.6 - B (S I DO
1.

o — nitrophenol. p — bromophenol

0 - I DD, p— 15 DS



p — Nitrophenol. 0 — bromophenol

p—DIE DD, I S L TVO)

2.4 — dinitrophenol. 2.4 — dibromophenol

2.4-BIE DO, 24-3 5D DO
4. %

Question Number : 159 Question Id : 4509386719 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Anhy 1) €104/
+ Ol ——L e A ——— B
AlCl (CH;C0),0.
273-283K
2) H;0W, /\
The incorrect statement about ‘B’ 1s
: f:'%””[‘:’ 1) Cr0;/
AlCl (CH;C0),0.
273-283K
2) H;0%, A\

B 30 020500 N85 ar5ads

Options:

It gives test with Tollens reagent

A B ) 53508 HBEIN0H

1. %



It gives test with Fehling’s solution

20 DrOOR |08 HBEANOH

\.:;2
It does not give test with NaOH + I solution
28 NaOH + I 3798908’ DB E a9 5¢%

3. %
It forms acid and alcohol with concentrated NaOH. followed by acidification
¢S NaOH. €8 0 5eb e3a055620 MR IO 80 SHBO5M
303233 e RO

4. %

Question Number : 160 Question Id : 4509386720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

| Br, / NaOH CHCl,
Benzamide = N - i

alc. KOH

The conversion of X to Y 1s

Br, / NaOH CHCly
BOBDE . b
_ @058 KOH

X & Y 1 58 2985
Options :

Hoffmann reaction

e e TS



4.

Etard reaction

QET0 TS

Stephen reaction

FDS S5

Carbyl amine reaction

50O Dad® B8



